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2 14,400 25,000 £10,600
< 85,170 77,500 7,670
Al 976,048 1,008, 118 £32,070
Az o Feuy 951,970 986,970 35,000
2 14,400 25,000 ~10,600
< 85,170 77,500 7,670
Al 852,400 884,470 £32,070
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Al 852,400 884,470 £32,070
SRR 19,500 12,500 7,000
= 5,850 5,000 850
Al 13,650 7,500 6,150
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< 5,850 5,000 850
Al 13,650 7,500 6, 150
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ze e 0 48,000 48,000
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02 12+ CH & At &3 bl 0 48,000 48,000
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Zsxe 22 626,000 526,000 100,000
< 50,000 0 50,000
Al 576,000 526,000 50,000
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402 Q12HT 20| & 36,000 50,000 A14,000
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st= Xl 0 80,000 A 80,000
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Al 0 40,000 A 40,000

402 0 80,000 A 80,000
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Al 0 40,000 A 40,000
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